®’OE N 4 B OB OB OF K
TRk 2 741 2 H 2 HEIE

(HpT 2 N)

& X e = At % I it
Fo1BREX | E K N K 2,228 | 2,357 | 4,585
Ho2 BEK | ERT AT, VESE 2,378 | 2,521 | 4,899
# o3 BEX | HBEHE 1 o B #E 1, 655 1,664 | 3,319
B4 BREX | O R OW & & v ¥ — 3,163 3,245 | 6,408
5 BREX | & K FH O f F K 2,251 | 2,429 | 4,680
o6 BEXK [ E K B N N FE K 2,241 | 2,519 | 4,760
7 REX | & K o &R O E OfE 2,705 | 2,676 | 5,381
8 HEK [ E 0K R E K 2,885 | 2,903 | 5,788
o9 mEXK | R M OB = o/~ F K 2,650 | 2,510 | 5,160
F1OREX | EAMHRGEAE X — 1, 834 1,708 | 3,542
FLIREX | RM N K 3,238 | 3,117 | 6,355
FlzhEX | ® M B = /A F K 2,398 | 2,341 | 4,739
=) At 29,626 | 29,990 | 59,616
Rk 2 749 H 2 HELE| 29,563 | 29,924 | 59,487
g 63 66 129

e N4 8B Y 5 28 7
Rk 2 741 2 H 2 HBUE 44 39 83
ERk 2 749 A 2 ABUE 45 39 84
JEA 1% -1 0 -1




